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SY “ﬁﬁﬂﬁ’f; Marks :80

Q. 1 A) Read the Extract and Answer the following questions (12 Marks)

She was a small, thin woman, with a brown, hard face, on which the skin had dried in
innumerable, hard face, on which the skin had dried in innumerable, small, hair like
wrinkles. She was probably not more than forty two, but life treats some women
hard in the agricultural districts of Sussex, and Mrs. Adis’ life had been harder than
most. “What do you want me to do for you Peter Crouch”? She said a little sourly
“Let me stay here a bit. Is there nowhere you can put me till they’ve gone?’ ‘Who’s
they? ‘The keepers.” ‘Oh you've had a quarrel with the keepers, have you?” ‘Yes, |
was down by Cinder Wood seeing if | could pick up anything, and the keepers found
me. There were four to one, so | used my gun.’

“Then | ran for it. They're after me, they can’t be far off now.” Mrs. Adis” did not
speak for a moment. Crouch looked at her beseechingly. ‘You might do it for Tom’s
Sake, he added . ‘You haven’t been and over good friend of Tom’, snapped Mrs. Adis
‘But Tom's been a very good friend to me, he would want you to stand by me
tonight’.

“Well, | won’t say he wouldn't for Tom always thought better of you than you
deserved. May be you can stay till he comes home tonight, then we can he?evwhat ne
says ahout it.’

‘He will be up at work for an hour yet, and the coast will be clear by then- 1 can get
away out of the country.” “Where will you go?’ | don't know. there is time to think of
that.’ ‘Welll, You can think of it in here, she said dryly,. opening a door which led
from the kitchen into the small shed at the back of the cottage. They will never
guess, you are there, specially if | tell them | haven’t seen you tonight.” ' You are a
good woman Mrs. Adis, | know | am not worth you standing by me, but may be I'd
have been different if I would a mother like Tom'’s.

She did not speak, but shut the door and he was in darkness save for a smalt ray of
light that came through one of the cracks. By this fight he could see her moving to
and fro, preparing Tom’s Supper. In another hour Tom would be home from Ironlatch
farm where he work everyday. Peter Crouch trusted Tom to help him, for they had
heen friends when they went together to the National School at Lamberhurst and
since then the friendship had not been broken by their very different characters and

careers.
£1.1) The writer describes Mrs. Adis as (2m)
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Q.2) Fill in the blanks with suitable words from text: (2m)

i) Mrs. Adis looked older then she was signifies that ... e

ii) Mrs.Adis let Peter crouch hide in The .ot s
(2m)

Q.3) State if the statements are true or false.

i) Mrs.Adis did not let Peter stay.

||,

Peter Went to the National School at Lamberhurst.

iii} The name of Mrs. Adis’ son was John.
iv) Peter crouch was dowi hy cinder wood when the keepers found him.

Q.4) imagire you were in Tom’s Place ana write whether you would have helped

vour friend knewing thet they have committed a crime.

(2m)

Q5) Do as directed {3m)

i)

ii)

Tom’s been a very good friend to me, 7 would want you to stand by me
tonight (make eompiex)

| was down by Cinderwood 'seeing if | could pickup anvthlj (Frame a WH -
question to get the underlined part as answer)

e e

iii) Peter crouch trusted Tom to help him {Rewrite this sentence in the Past Perfect
Continuous Tf;n_s_) 6‘
06} Write the' Adiective Ferm {(Im)
i) Woman i) Think
QG | B} Grammar : Do a5 directed (5 marksj
1) Moana said o the teacher, “ | fer! very happy to help my mother at home.”
(change into Indirect speech)
2) Spot the error/s in the sentences and rewiite.
a) The children in the park was playing hide and seek.
b) The little boy was hurt badly, isn‘t he?
3) The mother looks after her child (make it a Rhetorical Question)
4) As | entered the post office the post master presented me with a Telegram.

kY
{Begin with N0 S00N€r .....oovcccvian )

Q 2 A) Read the extract and answer the questions (12 Marks)

Dairy farming is a major livelihood followed hy many housetiolds in rural areas. This

includes rearing milk cattle - cows, buffaloes, goats and sheep. There is a shortage of m

miik in tha country as consumption in both urban and rural areas has risen sharply .

Dairying is an important source of subsidiary income to marginal farmers and
agriculturai .abourers. They play a very important role in the milk production of the
country. In 1986 -87 about 73 % of rural hOUSEhOlLb owned livestock, Accerding to

the National Sample Survey of 1993-94, livestock proébuces regular employment to
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about 9.8 million persons in principal

Status and 8.6 million in subsidiary status,
which constitute about 5%

of the total workforce. The manure from animals provide
a good source of organic matter for improving soil fertility and crop yields. The gobar
gas obtained by processing dung is used as a fuel for domestic purposes and also for
running engines to draw water from wells. The surplus fodder and agricultural by
products are gainfully utilised for feeding the animals. Since agriculture is mostly

seasonat there is a possibility of finding employment throughout the year for many
seisons through dairy farming.

The Wilk processing is a small one. Only 10% of all the milk produce is delivered tg
some 400 dairy plants,A specific Indian phenomenon is the unorganised sector of
milkmen and vendors, which handles around 65-70% of the National Ritk
Production. The collect milk from local producerfand sell it to both Urban and non-
Urban areas.

Q1) Choose the sentence which gives tire theme of the extract and write it. {(2h1)
a) Thereis a shortage of milk in the country as censumption has increased.
b) Dairy farming could become a good source of income and employment to
peaple.
£) Ways to use fuel for domestic purposes and to draw water from wells.
d) Agriculture is seasonal and the milk processing Industry is a small one.

Q2} List Two ways in which dairy farming is beneficial for farmers besides getting
mitk. {2m)

Q.3) What information: does the National sampie survey of 1993-94 provide? {2m)

Q.4} Explain how, accerding to you, dairy farming can improve the financial

condition of farmer.s$ . (2m)
Q.5) Do as dierected (2m)

i} The consumption of milk in both urban and rural areas has risen sharply (choose
/ .
the correct\verb in the Past Perfect Tense and rewirte)

(a) Wil have risen  (b) Had risen (c) Have risen (d) Having risen

i} The Gober gas obtained by processing dung is used as fuel (choose the correct
option beginning with “people................)

a) People uses the gobar gas obtaining from processing the dung as fuel.

b) People will use the gobar gas obtained from processing the dung as fuel.
¢) People are using the gobar gas obtained from processing the dung as fuel.
d) People use the geber gas obtained from processing the dung as fuel.

D
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Q.6) Vocabulary: fggrth tiie\f\n'tonyms of the following words by adding prefixes.
(iii) Seasonal (iv) Fertility (2m)

(i) Possibility (ii) Regular

\
Q.2 B)M (4 marks) ] 7 ;
Prepare a summary of the above extract. give it a suitable Title. You may use tne
following points : (Dairy Farming — Major livelihood — income and employment

source —Séges of Dung — uses of Surplus fodder - role of unorganised sector)

Q.3 A) Poetry : Complete the Activities after reading the extract (10 marks)

So Tongue was the lawyer and argued the casg
With great deal of skill and a wig full of learning,
While chief Baron Ear,sat to balance the laws.

; So famed for his talent in nicely discerning.
in behalf of the nose it will quickly appear,
And your Lordship,; he said will undoubtedly find
That the nose has had spectacles always in wear.
Which amounts to possession {ime out of mind.
Then Holding the spectacles up to the court,
Your lordship observed they are made with a straddie.
As wide as ridge of the nose s, in short.
Designed to sit close to it, just like & saddle.
Again would your Lordship a moment suppese.

(’ Tis a case that has happened and may be again.)
That the visage or countenance has not a ncse.
Pray who would or who could wear spectacles then?
On the whole it appears and my argument shows,
With the reasoning the court will never condemn.
That the sepctacles plainly were made for the nose.
And the nose was plainly intended for them.

/7
Q1) Complete the;Web {2Zmarks)

e L |

r_—h____ —_—iz?}\rgu_nfzts by the Tongue K ' .
oy i J

Q 2) How does the fawyer Tong:elgdefend the case of the nose? (2Zm)
Q3} Do you support the poets Satire Presentation of the Judicial System? explain (2m)
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o 5] 3] 2024

XI Science
Il Terminal Exam Feb/March: 2024
SUB: INFORMATION TECHNOLOGY MARKS: 80
Q.1) Fill in the blank {10 M]
1) text formatting tag is used to underline texL.
2) URL stands for
3). attribute sets the background colour in a web page.
4) _____link on a web page shows blue colour-.
5) keyword is used for declaring variable in java Script.

6) Stealing of codes/programs and selling it for profit is called as el
7 are the non-executable part of a program.

8) ____ loop has three parts.

9) This logical structure of database is krownasa

10) tag is used to create multilire text box.

Q.2) State True or False [10 M]
1) The <sub> tag put content little Ic,wer thar the line on web page.
2) Cellpadding gives spaces between cellborder and content.

3) GET is default method of send.ing data.

4) Boolean data type return only two values.

5) IT Act 2000 is a legal frame work for cyber related crimes.
6) Java Script is a case insensitive language

7) To define the type of scrint language type atiribute is used.
8) Htmlis user friendly we'o based language.

9) Integer data type supports number with fractional part.

10) alert() gives a pop up, message box with textbox.

Q.3) Answer the any 507 the following [10 M]
1) What is Database?
2) Define Phishing, Plagiarism.
3) What is scripting language?
4) Explain conditional statement in javascript?
5) Write about unary and binary operators used in JavaScript?
6) Define ethics and moral?

Q.4) Answer the any 4of the following [20 M]
1} Write Advantages of RDBMS.
2) Write note on cyber sta'king, cracking.
3) What is variable; write the rules for naming variable.
4) Write about cyber security and safety.
5) Explain relational operators used in JavaScript.
6) Explain attributes of <form>.



Q.5) Write short note on any 2 [10 M]
1} Explain Data types used in DBMS.
2 Write note on built in functions in javascript.
3) Write note on cyber crime.
4) Write note on cyber Law.

(2.5) Write Html code for the following. [20 M]

1) Write html program to create forim and accept Name, DOB, Mobile number,
City and Gender from user.

2)  Write hitml code to sesign following table.

Emp | Name | Designation | Address
| Code

101 | Rohan | Accountant | Khar

102 | Ashna | Receptionist | Santacruz

103 | Ruhi Developer Bandra

3) Write javascript code to print [ to 10 numbers in reverse order.

4) Write Javascript code to check ertered number is even or odd.




Marks 50 i esPI Annual Exam March 2024 Hours.

Note: i] All questions are compulsory.
ii] Figures to the right indicate full marks.
iii] Draw neat diagram wherever necessary.

iv]Use of Log table is allowed. Calculator is not allowed

Q.1 A. Select the correct alternative and rewrite the sub questions. [03]

i) The purpose of using resistors in an electrical circuit is

a) To increase voltage. b) To decrease current ¢) To store
energy. d) To amplify signals

il) DPST must have terminals.

a)3 b)4 c}6 d) 12.

ill) E.M.Relay's working action is based on o a)

Oersted's Laws b) Ohm’s Law ¢) Max. Power Theorem  d) none of these.

i) v } The ‘One time constant' is the time in which capacitor gets
a) 3.3 % charged b)36.7 % discharged c} 86 % charged dyaandb

v) Shunt type chmmeter is suitable for measurements of value of
resistors. a) low b) medium c) very high d) none of these

B] Explain Charging and discharging of Capacitor. Draw graphs of both.  [05]

Q.2 Attempt any Two of the following. [10]

i) Explain KCL and KVL giving suitable examples and Solution having minimum 2 Mesh.

ii) Write a note on sources of electricity. Explain giving examples from each type.

iii) Why color coding is essential in resistor ? Draw complete chart. Explain color coding
method giving 2 examples.

Q.3 Attempt any Two of the following. [ 10]
i) Write Oersted Law , Faraday’s Law of Induction, Working Principle of Motor.

ii) Explain construction and working of transformer.
iify Compare Series type ohmmeter with Shunt type ohmmeter.




Q.4 Attempt any Two of the following. f10]
i) Write a note on Alternator. Explain using diagram and waveform.

il) Write a note on Non Sinusoidal waveforms. Draw diagrams. Write uses.

iii) What are drawbacks in simple multirange milliameters ? How can you overcome it. Explain
that meter with diagram.

Q.5 Attempt any Two of the following. [10]

i) Compare AC with DC type of Electricity

ii) A PMMC meter carries maximum current 15 mA when a P.D. of 0.75V is applied across it.
How will you convert into voltmeter for measuring 150 Volts and 250 Volts ?

iii) A MCG having Ifsd current of SmA and meter resistance of 40 ohms. Convert it to read upto
100 mA and 1000 mA.



+MET | (BASIC ELECTRICITY )
MM :80. TIME: 3 HOURS

NOTE: ALL QUESTIONS ARE COMPULSORY

Q.1 A) FILL IN THE BLANKS WITH APPROPRIATE WORDS FROM THE
GIVEN OPTIONS. ( 5M)

a. The shunt required to double the range of an ammeter is the meter
resistance ( equal / double)

b. When a Multi meter is used as ohm meter, it becomes type Ohm

meter. (series / shunt)

The average value of current over a.cycle is (one/ zero)

Two waves of equal values but opposite phases each other (cancel/ add)

e. Unlike poles of a magnet each other. (Attract/ repel)

=i

Q.1) B. MATCH THE COL.UMN. ( 5M)

A. B
Multi meter a. Weber
RMS value equals to b. Measures V,|,R
Unit of magnetic flux c. Is same
Heating effect for DC and AC  d. Volts/ meter
Unit of electrical field strength  €.0.707 peak value

8 B N e

Q.1) C. STATE TRUE OR FALSE. (5M)

Unlike poles oppose each other.

MMF is measured in ampere- turns

At resonance in a shunt resonant circuit, the impedance equals to the resistance.
The ratio of RMS value tc average value of AC is known as form factor

A PMMC instrument is a linear reading AC device

£ 02k

Q.1) D. Draw the neat labelled diagram of the PMMC mechanism. (5M)



-

Q.2) ANSWER ANY 6 QUESTIONS. (5M each)

TQ "0 a0 oo

Draw the diagram of nonsinusoidal waveforms.

State the Flemmings right hand rule and Lens's law of electromagnetic induction
Write a short note on AC.

Explain conversion of PMMC mechanism into DC ammeter.

Draw the diagram of multi range ammeter.

State the characteristics of AC wave

What do you mean by solenoid.

Draw a neat labeled diagram of a multimeter.

Q.3) ANSWER ANY 6 QUESTIONS. (5N each)

TQ@ "o oo oo

Draw the diagram to show magnetic poles of a solenoid.
What is an electromagnet? ;

State the characteristics of AC waveform.

Explain inductive reactance and capacitive reactance
Derive the equation for equivalent capacitance in series.
What are the characteristics of parallel reacsonance.
State factors affecting the inductance of a coil.

What is voltmeter sensitivity?




ANNUAL EXAM OF FYJC ( HSVC) FEBRUARY 2024
FETIF{BASIC ELECTRONICS)
MM : 80. TIME: 3 HOURS

NOTE : ALL QUESTIONS ARE COMPULSORY

Q.1 A) FILL IN THE BLANKS WITH APPROPRIATE WORDS FROM THE
GIVEN. (5M)

a.

®oo0o

The emitter resistor bypassed by a capacitor _____ the Q point. ( stabilizes / not
stabilizes)

The DC isolation point is provided by coupling. ( transformer/ direct)
The phase shift oscillator circuit generally consists of _ RC sections. (3/ 4)
Ina oscillator a tapped coil is used. ( Hartley/ Colpitts)

The minimum current required to keep SCR in ON State is current. (
Holding/ firing)

Q.1) B. MATCH THE COLUMN. { 5M)
A. B
1. Diac a. consists of two SCR's
2. Triac b .removes distortion
3. Negative feedback c. Bidirectional dicde
4. Push Pull amplifier d converts DC signal to AC signal
5. Oscillator e .increases stability of gain
Q.1) C. STATE TRUE OR FALSE. (SM)
1. SCRis turned on by giving appropriate gate current.

ok

Principle of UJT oscillators is positive resistance.

FET and UJT are bipolar transistors.

DC isolation is provided by direct coupling.

The input and output signals of a CE amplifier are always out of phase.

Q.1) D. Draw a neat diagram of RC coupled amplifier. ( 5M)



Q.2) ANSWER ANY 6 QUESTIONS ( 5M each)

Ta oo e oo

State the importance of differential amplifier.

Compare amplifiers and oscillators

With a neat diagram explain the working of Hartley oscillator.
Draw the block diagram of oscillators.

Explain the structure and equivalent circuit of UJT

State the different types of FET.

Draw the transistor equivalent of SCR.

What do you mean by a thyristor. State the different types.

Q.3) ANSWER ANY 6 QUESTIONS ( 5M each)

TQ 0 eo o

What is the principle of MOSFET?

What is distortion in transistors?

Draw a neat diagram of a direct coupled amplifier.

Draw the symboils of N channel FET and P channel FET .
Draw the symbols of DIAC & TRIAC.

What are the different types of feedback?

State the various uses of oscillators.

Draw the diagram of differential amplifier.
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ANNUAL EXAM OF FY.JC ( HSVC) FEBRUARY 2024
@EETIIDIGITAL ELECTRONICS)
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NOTE: ALL QQUESTIONS ARE COMPULSORY

1) FILL IN THE: BLANKS WITH APPROPRIATE WORD AND REWRITE THE SENTENCE.

( 5M)
a. ______ arethe basic building blocks of sequential logic circuits. ( logic gates and flipflops
! JK master slave )
b. InaDfipflop_____inputis called synchrenous input. ( Clear / D)
c. A___ __ isagroup of flip flop that can store a binary number . ( Register / counter )
d. Shift register belongs to the class of _____ logic circuit . ( Sequential / non sequential )
e A_____actsasamemorycellina d:glta! system . (Flip flop /register }
Q.1) B. MATCH THE COLUMM. { 5M)
A B
1. 1C 7400 a. OR gate
2. 1C 7402 p. NOT gate
3. 1T 7404 c. AND gate
4. 127432 d. NOR gate
5. IC 7408 e. NAND gate
Q.1} C. STATE TRUE OR FALSE. (SM)
#. NAND and NOR gates are: basic gates.
b. Derived gates are constructed using all EX OR gates.
c¢. The binary number sysiem use 8 basic characters.
d. Binary number systern uses alphanumeric characters.
e. Octal numbers use two basic characters.

Q. 1) D. Draw the loyic cliagram of JK master slave flipfiop : { 5M)



Q.2) ANSWER ANY 6 QUESTIONS { 5M each)

a.

b.

C.

d.

e.
i

g.

Define multivibrator.

Explain the conce:pt of clock.

State the applications of registers.

Draw the diagrarn of D flip flop.

Name the different types of A to D convertors.

Draw the logic cliagram of decade counter. Give its truth table also.

Draw a 4 bif resistive ladder network

Q.3) ANSWER ANY 6 QUESTIONS. { 5M each)

bana 41

Draw the logiz diagram of RS Flip flop using NOR gates and explain its working.
Draw the different types of registers with block diagram.

What is a ragister? Name the 4 different types.

Explain the modulus of & counter.

Give symbois of 3 derived gates

What is edge triggering? Siate its necessity

Explain the working of counter type A/D converters.
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NOTE: 1. All questions are compulsory.

- Draw neat diagrams wherever necessary.

. Figures to the right indicate full marks

. Use of any type of calculator is not allowed

- Due credit will be given for the programs with appropriate comments
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Q. 1. (A) Select the correct alternative and rewrite the following: 4

i.  The result obtained on binary multiplication of 1010 * 1100 is
a) 0001111  b)0011111 c) 1111100 d) 1111000

i.  What is the name of | operator?
a) sizeof b) or ¢) and d) modulus

iil.  Which of the followinsy is a correct identificr in C+-+?
a) VAR_1234, b) $var name ¢) 7VARNAME d) 7var_name

iv.  Visual Basic 6.0 is a tool that allow you to develop application in :
a) Real Timrie  b) Graphical User Interface ¢) Character User Interface d) None of these

(B) Answer any two of the following: 6
a. Explain ToolBox in Visual Basic.
b. Write a Program in C++ to find the GCD and LCM of 45 and 65.
c¢. Explain the different type of Computing in Networking.
6

Q. 2. (A) Answer any two of the following:
a. Write a Program in C++ to print Pythagoras triplet.

b. Explain the steps involved in Program Analysis,
c. Draw a flow chart for calculating the average height of boys and girls in Classroom.

(13) Answer any one of the following:

a. Explain the rules for declaring variables in Visual Basic.
b. Write the code in Visual basic 6.0 for stopwatch.



Q. 3. (A) Answer any two of ths: following: SRl
a. Write a Program in C+-+ to check whether the entered number is Prime or not.
b. Write the algorithm f{or addition of sets of numbers.
c. Write code in Visual Basic for Calendar.
(B) Answer any one of the following: 4
a. Write the steps for designing a Calculator in Visual Basic.
b. Write a Program in C++ to count positive, negative and zero integers in a list of numbers entered
by the user.
Q. 4. (A) Answer any two of the following: 6 ‘
a. Explain Character Sets and Data types in C++ with suitable examples. ‘
b. Explain the difference between LAN and WAN in Networking.
c. Write a Program in C++ to find roots of Quadratic equation

(B) Answer any one of the following: 4

a. Explain the application of Networking with Suitable examples.

7y

b. Explain function overloading in C++ with suitable example.

Q. 5. Answer any five of the following: 10
a. (89891 +(111)s =¢( )16

b. (26AB)s —(171)0=( )8

c. (DAD)is X (111)~ = ( i 4
d. (F434)/(6)s =¢( )8 ‘
e. (QACC) 16 -( 101310 = ( ) 10 using 17 s Com plement Method.
f. (1245 ) - (179) 0= ( ) s using 2’ s Complement Method.

sk sfe e s sk ok ol e 2060k o sk ok ok sk e ok of ok ok sfe sl e e o e ok o o oot ik o ok e o sl ok o ok ok o ol ok e s o o ol ofe ok e st e ok ok sk sk sk st o e ok
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Q. 1. (A) Select the correct alternative and rewrite the following: 4

i.  Active devices can also be used as :
a) Amplifiers b) Choppers ¢) Converters d) Inverters

ii.  Which of these convert electricity to a magnetic field?
a) Transistor b) Capacitor c)Resistor d) Inductor

iii.  What will be the output of the given logic gate?

L)

Pl st

g

S

a) NOR b) NAND ¢) AND d) OR

iv.  XOR circuits can be constructed using

a)AND, OR gates  b) AND, NOT gates ¢) OR gate only d)AND, NOT and OR gates

(B) Answer any two of the following: 6

a. Explain types of Transformers.
b. Explain working of PN Junction Diode when forward biased.
c. Explain Paper and Mica Capacitors in detail.

Q. 2. (A) Answer any two of the following: 6
a. Explain the types of Transistors.

b. Explain SMPS.
c. How will you construct AND gate using NOR gate? Explain the truth tables.



(B) Answer any one of the following:

a. Draw the circuit diagram and truth table of Half Adder.
b. Explain different types of Scanners.

Q. 3. (A) Answer any two of the followin :
a. Write a note on Working of Motherboard.
b. Write a short note on types of Modemn.
c. Write the symbol, truth table and expressions of OR, AND and Ex-OR Gate.

(B) Answer any one of the following:

a. Write a note on Color Coding in Resistors.
b. Explain in brief the Control Unit in Computer.

Q. 4. (A) Answer any two of the following:
a. Whatis a RAM ? Explain.

b. Explain SDD.
c. Explain Cathode Ray Tube and LED in Monitor.

(B) Answer any one of the following:

a. Write a note on CPU of Computer.

b. Explain Active Electronic Components with examples.
Q. 5. Answer any two of the followingz:

a. Explain different types of Printers.

b. How will you construct OR and NOT' gate using NAND gate ?
c. Draw and Explain VI characteristics of PN Junction diode.

*********************************$**************$********$*$*****$*

10
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RIZVI COLLEGE OF ARTS, SCIENCE AND COMMERCE, BANDRA WEST
XI Science
Annual Examination March —2024
Wubject=Biology

Time : 3 Hrs Max. Marks : 70

General Instructions

i All questions are compulsory.

2 Section A contains Q1 of Multiple Choice Questions from i to x carrying | mark cach
and Q2 of Very Short Answer type of questions from i to viii carrying 1 mark each.

3. Scction B contains Q3 to Q14 of Short Answer type questions carrying 2 marks each.

4. Section C contains Q15 to Q26 of Short Answer type questions carrying 3 marks each.

5 Section D containsQ27 to Q31 of Long Answer type questions carrying 4 marks each.
' SECTION A

Q1. Write the most appropriate option from the options given below. (10)

1) The label of a herbarium sheet does not carry information on__ ~
a) date of collection  b) name of collector  ¢) local names d) height of the plant
ii) Seeds are enclosed in division ;
a) angiospermae  b) gymnospermae ¢) Thallophyta d) pteridophyta

ii)) During __ division, diploid cells are divided into two haploid cells.
a) mitotic  b) first meiotic ¢} second meiotic d)amitiotic

iv) is a fluid connective tissue

a) lymph b) Blood c) cartilage d) bone

v) The basic unit of DNA is made up of sugar, phosphate and nitrogen base is called
a)nucleotide b) nucleoside  ¢) saccharide  d) amino acid

vi) Light reaction takes place in :
a)stroma b)granna  c¢)lamella  d) ribosomes.
vil) Exoskeleton of cockroach is made of
a) chitin  b) calcium ¢) lipid d) protein
'/iii)Which of the following is not the function of HC1?

a) To kill bacteria b) to convert pepsinogen into protein
¢) sterilization of food d) to convert proteins into peptones
ix) ___stone is formed by urea splitting bacteria.

a) Calcium oxalate b} calcium phosphate c) Struvite d) both a and b

x)Photosynthetic pigment is present in :
a) granum b) stroma ¢) mitochondria d) nucleus




\

Q2. Answer the following.

i. Give the full form of CAM

ii. Name the smallest Angiosperm .
iil. What are spiracles?

1v. What is cell division?

v. What is the other name for Kreb’s Cyle?

vi. What are the different types of muscular tissue?
vii. Define herbarium.
viii. Draw structure of Glucose molecule.

Attempt any Eight.
Q3.Write a note on importance of Botanical garden.
Q4. Write a note on cellulose.
Q5. Differentiate between monocotyledonae and dicotyledonae.
Q6. Sketch and label salivary gland of cockroach.

Q7. State role of skin in excretion
Q8. Draw diagram to show photoexcitation of chlorophyll-a.

Q0. State true or false-i.Endocrine glands are called ductless glands.

SECTION B

ii.Cockroach belongs to phylum arthropoda.
Q10. Mention 3 organelles involved in photorespiration.

Q11. Sketch and label the Glycolysis pathway.

Q12. Distinguish between Ammonotelism and uricotelism.

Q13. Write short note on liver.
Q14. Write a note on columnar epithelial cells.

SECTION C

Attempt any Eight.
Q15. Give 3 classification of algae.
Q16. Match the following.

Sr. no A B

1 Fixaticn of CO, Protection

< Peristromium RUBISCO Enzyme

B Plastidome Self replication

Q17. Sketch and label cyclic photophosphorylation .

Q18. What are monosaccharides ? Explain 3 types of monosaccharides.
Q19. Sketch and label Calvin cycle,

Q20. Describe male reproductive system of cockroach.

Q21. How many following energy molecules are produced during the Kreb’s cycle -
aNADH; b. FADH, c.ATP
Q22. Describe the different types of renal failure ans add a note on Haemodialysis,

(8)

(16)

24)



Q23. i.What are villi?
ii. Where are they found?
iii. What are their functions?

Q24.With the help of well labeled diagram describe structure of nephron.
Q25. Write a note on skeletal muscle,

Q26.Write the functions of the following cells of aereolar connective tissue.

1. fibro blast--—-e-eeeeeo_. S
ii. mast cells—-mwmmmnmmmmmao-.. >
ili.macrophages------------- %
SECTION D
Attempt any Three, (12)

7. A) Name the cell organelle where photosynthesis takes place.
5 B) Sketch and label the organelle.
C) Explain the organelle in detail.
Q28. Classify carbohydrates,
Q29. Draw and describe the structure and function of mouth parts of cockroach.
Q30. With the help of well labeled diagram describe digestive system of man.
Q31. Give characteristics of division Angiosperm in detail. (8 points)
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Time: 3 hours Maximum marks:70

General Instructions:
The question paper is divided into four sections

1. Section A is compulsory

2. Section A: Q.No. 1 contains ten multiple choice type questions carrying one mark each.
Q.No.2 contains eight very short answer type of questions carrying one mark each.

3. Section B: Q.No. 3 to Q.No. 14 contains twelve short answer type of questions carrying two
marks each. :

4. Section C: Q.No. 15 to Q.No. 26 contains twelve short answer type of questions carrying

three marks cach.

Section 12: Q.No. 27 to Q.No. 31 contains five long answer type of questions carrying four

marks cach.

6. Use of log tables is allowed. Use of calculator is not allowed.

7. Figures to the right indicate full marks.

8. For each MCQ, correct answer must be written along with its alphabet Eg. (a ../{i)b...
/ye ... /(iv)d. ..

9. Physical Constants
i) Velocity of light in air ¢ = 3 x 108 m/s
iU%“ﬂO”“%Mm
1i1) Radius of earth = 6400km

i

Nm?
C.".

iv) = 9% 10°*

4 @'EO

v) acceleration due to gravity = 9.8m/s*

Section A

Q1. Select and write the most appropriate answers
i) The errors which occur due to carclessness of the observer are called
a) Random error b) Instrumental error
¢) Systematic crror d) Personal error
11} Newton’s second law of motion enables to measure
a) Momentum b) Force ¢) Velocity d) Torque
iti) Which of the following is the most elastic material
a) Steel b) Copper c¢) Rubber d) Clay

iv) Two resistances each of 100€2 are connected in parallel combination then the equivalent
resistance of the combination is

a) 10Q b) 20Q ¢) 50Q d) 750
v) Optical fibers work on the principle of

a) Rellection b) Polarization ¢)Total Internal Reflection d) Dispersion
vi) IN = 10* dyne where x equals to

a) 3 b) 4 c)S d)7

g,



Vi) A ray of light incident on an equilateral prism at an angle of 40° suffers deviation of 48° then
what is the angle of emergence :

a, 50° b) 58° c) 68° d) 90°
viii) Which o the following is a scalar quantity
a) Current b) Force ¢) Electric Intensity  d) Magnetic dipole moment
ix) According to Kepler a pianet revolves round the sun in
a) Circular orbit b) Liliptical orbit ¢) Parabonc path d) Spiral path
x) Force experienced by a unit positive charge is
a) Electric Intensity b) Electric potential

¢) Electric flux d) Electric dipole moment

Q2. Answer the following

1. Name the strongest force in nature

2. Is acceleration due to gravity the same at all places?

3. Aforce applied to a body does not produce any displacement. What 1s the work done by the
body?

4. Name any one device used to control current in a circuit.

5. The resistance of a conductor is 10€ then what will be its conductance

6. Write the dimensions of momentum
The geometric length of a magnetic dipole is 18cm then what will be its magnetic length
8. State Newtons third law of motion

Section B
Allempt any eight questions

Que No3. Draw a neat well labelled ray diagram to show the phenomenon of total internal
n-a'\ﬁrmhﬁlnn

Que No 4. Find the unit vector in ihe direction of vector 4 = 31- 2 + 6k

Que No 5. What are fundamental quantiiics? Give example

Que No 6. The color codes on the body of a resistor are in the order Red. Orange, Brown, Gold
then what is the value of resistance?

Que No 7. State any two properties ol magnetic lines of force

Que No 8. Explain why a two-stage rocket is required to launch a satellite

Que No 9. A rubber band originally 30cm long is stretched 1o a length of 32em by certain load.
What is the strain produced?

Que No 10. Distinguish between longitudinal waves and transverse waves

Que No 11. State and explain the law of conservation of charge

Que No 12. What is the order of magnitude for the following
i) Radius of carth = 6400km
i) Charge of electron = 1.6 x 1071 C

Que No 13. What is the angle of deviation produced by a thin prism of refracting angle 10° madc
of material whase refractive index is 1.6

Que Ng 14. Deline impulse of force and state its S.1. unit

G)




Section C

Attempt any 8 questions

Que No 15.
Que No 16.

Que No 17.
Que No 18.
(Que No 19,

Que No 20,
Que No 21.

Que No 22.
Que No 23.
Que No 24.

Que No 25.
Que No 26.

iSjtaif: and explain the Columb’s Law in Electrostatics

erive an expression for the equivalent resj : i i

; Spre: , resistance of two Resistances :

e nces connecled in
Distinguis} e L . e i
il 1&,1 sh l;eluccn Inertial frame of reference and non-inertial frame of reference
: (2:1( 1us of a sphere measured repeatedly gives values 5.60cm, 5.62¢m, 5.61 cm,

'4) ¢m and S..()Ocm, Determine the most probable value of radius, mean absolute
error and relative error,
Dchn_e critical velocity. Derive an expression for the critical velocity of an orbiting
satellite
Iftf}c velocity of sound in air at 27°C is 340m/s. What will be its velocity at 927°C
Dehpe Young’s modulus. Derive an expression for the Young’s modulus of material
of wire
A car.ofmass 10.0()kg is moving with a velocity of 72km/hr is brought to rest by
applying brakes in 10 seconds. What is the retarding force acting on the car?
Define Scalar product of two vectors. State any two characteristics of Scalar
products
At what distance above the surface of carth the acceleration due to gravily decrcase
by 20% of its value at the surface (R= 6400km)
State any three characteristics of Gravitational force
A short magnetic dipole has magnetic dipole moment 0.5Am?. Calculate its
magnetic field at a distance of 20cm from the center of magnetic dipole on its axis.

(o =4 [ x 1077 S units)

Seclion D

Attempt any three questions

Que No 27. For refraction through a prism show thati +e=A+
Que No 28. State Newtons formula for speed of sound in air. Ixplain the Laplace’s correction for

(Que No 29.

Que No 30.

Que No 31.

speed of sound in air
a) State Hooke’s Law of elasticity and define modulus of elasticity

b) Find A.B
It A=31-2]+2k and BE=2i-5j+3k
a) State the Newton’s law of Gravitation and Keplar’s law of period

b) Two point charges of 5uC and 10pC are placed 1m apart in vacuum. What will be

the force experienced by cach charge (———= 9x 1077 C—",')

4 e

a) State and prove the Work-Energy theorem .
b) A sound wave in air has a speed 340m/s and wavelength 1.7m Calculate its

frequency and period

=)
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General Instructions -
The question paper is divided into 4 sections.

. Section A:

Q.No.1 Contains TEN Multiple choice question carrying one mark each.

€.No.2 Contains EIGHT very short answer type of questions carrying onemark each.

Section B: Q.Ne.3 to Q.No. 14 are short answer type of questions carrying Twomarks each.

Sec;lion C: Q.No.15 to Q.No.26 are short answer type of questions carrying Threemarks

each.

‘Q(ion D: Q.No.27 to Q.No.31 are long answer type of questions carrying Fourmarks each.
se of log table is allowed. Use of calculator is not allowed.

Figures to the right indicate [ull marks.

For Each MCQ, Correct answer must be written along with its alphabets,

e.g.a)__ (M} _b) ¢) d) ete.

SECTION - A
Q.No.1: Answer the correct option. 10 Marks
i) Which of the following has the largestnumber of atoms ?
a) lg Au(s) b) 1g Na(s) ¢) lg Li(s) d) 1g Ch(g)
ii) No two electrons in the same atomscan have identical set of four quantumnumbers”.
this statement is known as -....cooeeeennn

a) Pauli’s exclusion principle b) Hund’s rule
c) Aufbau rule  d) Heiscenberg uncertainty principle

i Valence Shell Electron Pair repulsion(VSEPR) theory is used to predict which of following :
} Energy levels in an atom
b) the shapes of molecules and ions.
¢) the electronegetivities of elements.
d) the l.yp‘\leé)f‘bonding in compounds

iv) The value of plnk’s constant is

a) 6.626 x 10-34].s b)6.023x 10-24j.
¢)1.667x 10-28i 5 d) 6.626 x10-16j.

v} in which group of element of modern periodic table are halogen belongs

a) 17 b) 6 c)4 d) 16

vi) Which of the following is true for two moles of an Ideal gas .



a) PV=nRT b)PV=RT c¢) PV=2RT  d)PV=IRT

vii) The Equilibrium HoOt= i s PO
a} Dyanamic b) Static c¢) Physical d) Mechanical

viii) The homologous series of alcohol has general formula

a) Colon+l1OH  b) CnHit20H ¢) Cnln-20U d) CntlnOH

1X) Which of the following Alkane is not synthesis by wurtz’s reaction

a) Methane b) FEthane ¢) Propanc %) Bme

x} How many gram of H»O are present in 0.125 mole of it?
a) 4.5 b) 18 ¢) 0.25 d) 5.4

; . 8§ Marks
Q.No. 2 Answer in one sentence.

t.  Give the formula of formal charge.
ii.  The isotopes of chlorine.
iii.  Lewis dot structure of COs.
iv.  Iind whether the Equation redox or not.

Cu + S04 2'-—-7\(112* + 80

v.  Give electronic configuration of Zn(Z=30)
Vi, What is valence bond theory
vii.  What is the action of chlorine gas on propene.

SECTION-B
Attempt any Eight. {6marks

Q No.3 State and explain the law of conscrvation of mass.

Q.No.4 Draw the shapes of *S” and *P* orbitals.

Q.No.5 Find out the formal charges on carbon and oxygen in carbon dioxide.
Q.No.6 Calculate oxidation number of underline atons

a) é‘.()qz‘ b) Naz S.0;

Q.No.7 Give reason cation is a smaller than its neutral atom.
Q.No.8 Define catalyst and what is thz effect of catalyst on equilibrium.
Q.No.9 Write structural formula following names compound.

a) 2- Methylhex-4-ene b) Cyclohexyne

Q.No.10 Distinguish between sigma bond and Pi bond.
Q.No.11What is the Actionfollowing reagenton benzenc.

a) Bi b) H2 S0,
Q.No.12 State and explain markonikov's rule,
Q.No.13Writz a note on

a) Nitration of benzene  bj Friedel craft acylation of benzene.
Q.No.14 Using whisper theory draw the shape of BF3 and PCls




SECTION- ¢

t any EIGHT -
AtfLopsany 24marks

Q_N0_15Slatc octet rule explain its inadequacies with respect to

a) Incomplete octet b) Expanded octet,

Q.No.16 Distinguish between aliphatic and aromatic compound,

(.No.17 Define K, and K. , write equation showing relationship between K., 4 K

Q.No.18. In the following terms, Y
a) frequency b) wavelength  ¢) wave number

(.No.19 Write a notes on ozonolysis of Ethyne ,give explanation wih reaction

Q_NO.ZO Explain with example a) -8 overlap b) P-P (sidewise overlap ) :

Q.No.21 Write dehydration reaction of pri mary and secondary

What is uses of alkane,

. ¢) S-P overlap
grving one example of each.
Q.N0.22 What arc the postulates of VSEPR theory.
Q.m3 What is ideal gas , derive the ideal gas cquation.
(.No.24 Predict the block period and group of the following element in the

modern periodic table. a) Mg =12 byCl=17

Q.No.25 Calculate number of atoms of hydrogen present in 6 gram of
urca (NH2CONH?) also calculate number of atoms of nitrogen and carbon.
Q.No.26 Calculate the volume of 1 mole of gas at exactly 20 degree at the pr

SECTION-D
Attempt any THREE12marks
Q.No.28 State and explain

a) Pauli’s exclusion principle
b) Hunds rule of maximum multiplicity.

Q.No.29 Explain geometry of BI's molecule on the basis of hybridization.
Q-.30 State law of mass action and Derive expression for it.
Q.No.31 i) Write structure of a) Anilne b) Toluene
ii) define carbocaltion, write structure of t- butyl cation.
Q.N0.32 How will you convert the following
i) but-2- yne to 2.2.- dibromobutane.
ii) benzene to hexa chlorobenzene.
1ii) benzene to Chlorobenzene.

iv) methyl bromide to Ethane.

:*-“'—:“—:::-_—.:X G e G 0 6 e e e N N e e
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General Instruction :

(1) Section A: Q.1 contains eight multiple choice questions, each carrying two marks.
Q.2 contains four very short answer type questions, cach carrying onc mark,

(2) Section B: Q.3 to Q.14 contain twelve short answer type questions, each carrying two
marks. (Attempt any cight).

(3)Section C: Q15 1o .26 contain twelve short answer type questions, each carrying three
marks. (Attempt any eight).

(4) Section D: Q.27 to Q.34 contain eight long answer type questions, each carrying four
marks. {Attempt any five).

(5) Use of log table is allowed. Use of calculator is not allowed.

(6) Figures to the right indicate full marks.

(7) Use of graph paper is not necessary. Only rough sketch of graph is expected.

(&) FFor cach multiple-choice type of question, it is mandatory (o write the correet along with

its correct answer or alphabet, e.g. (a)...../(b)......etc. No marks shall be given, if ONLY

the correct answer or the alphabet of correct answer is written. Only the first attempt will

be considered for evaluation.

(9) Start answer Lo each seclion on a new page.

SECTION - A

Q.1 Select and write the correct answer for the following multiple-choice type of questions:
[16]

EoAEthe twa lines are paratlel then their stopes are

(a)ym, = my tb)y m; =—1m, (c)ym,.m, =1 (dym; = m,



2.1f C is centre, AB is chord & CD perperidicular AB at D then

(2) Al = 2DB (b) AD =DB (c)AD+DB=1  (d) None of these,

3.cos(A+ B) =

() cosAcos B —sinAsin B (b)sinAsin B — cosAcosB
(chcosAcos B 1 sinAsin B (d) None of these.

4. The value of *P; 15

(a) 20 {b) 120 (c)40 (d)100

S f{x) = e then f'(x)

(a) e*¥ (bye™* (c) —e* (d) —e™

6. If fand g aic continuous function at x = g the

(a) I'1 g ts continuous (b) f— g is continnous (c) f. g is continuous
(dy All are true

7. For any event A,

(2) P(A)Y+P(A) =0 (BYP(A)+ P(A) =1 () P(4) > 1 (d) P(A) < 1
8. !]rr; ‘)‘—:L; then

(a) na" 1 (H) ~—a &y ag™ {d) None of these

Q.2 Solve the following: [4]
(i) Evaluate f(x) = 2x2 — 3y +t4atx=7.
(1) Find the value of 7¢;
(1ii) Find the range of the following data - 19,27,15,2!,33,45,7,12,20,6.
(iv) Find the value of (10 — 6)!
SECTION B
Attemptany EIGHT of (he following: [16]

Q.3 If the origin is shified to the point 0'(2,3) the axes remaining parallel (o the original
axes . find the new co-ordinates of point A(1.3).

Q4. Find the centre ang radius of the circle (x — 5)2 + (y - 3)% = 25,

2



Q.7 Examunc the continuity of f(x) = »3 4 2x% —x _ 9 e

Q.8. Differentiate y = vx + tany — 3 with Rshpiy

. Vzie
Q.. . kvaluate lim -

et
Q.10. Show that / (x) = x* s continucous and differentiable at x = ()

QUL Fund x,if [(x) = g(x) where f(x) = 44 +2x% , g(x) = 1122

: ¥ 2a
Q.12 Evaluate lim ——
' y—-3 yi+27

Q.I13Evaluate sin(150).

’ Q.14.Find the slope of line passing through the points A(2,3) and B(4,3).

SECTION C

Attemipt any EIGSHT of the following: [24]

/ 5 1 =
Qi M tand == - tanB == then prove that A+ B <2
€& 11 4

Q.16.Examine the continuity of the function at the points indicaed agains( them,

il

. n
Stnx  forx < "

f(x)

n
=cosx  forx> ; Qtx=

Q.17. Differentiate with respecttox , y = e*logx .

SeTe (,1_7:"_)7: I
'Q.is. Find n oy 5! .

Q.19. A fair die is thrown two times. Find the probability that
(1) product of numbers on them is 12.
(i) sue o' the nunibers on upper most face 15 at least 8,

Q.20. Show that the lines 3x—4y+5=0 Tx—8y+5=0 4x+5y—-45=0

are concurrent and find the point of concurrent.

Q.21. Show that 3x2 4 3y? + 12x + 18y — 11 = 0 represents a circle.

5 . Df=g
Q.22 Fvalute lim—=—
X 4% 3



.23, The mean of two sample sizes 1( d 45respectively, and the standard
deviation are 6 and 11. Obtain the standes d¢ saican o7 sample size 30 obtained by

combining two samples.
Sk e Ve NP 2 XY
Q.24. Prove that (cos x + cos y)? + (sim = - a2 2% = 4c0s®(=7)

Q.25.Find the equation of line containing the point (4,2) and having inclination 120.

’ - g ; x*+3
Q.26.Differentiate the following with respect lo x. y = =—.

Section D

Attempt any FIVE of the following: [20]

, . 3 1 5
Q.27.For two events A & B of a sample space S, P(4) = =, P(B) =- & P(AUB) =~ i
find P(ANB),P(A'NnB"), P(A'UB") '

(Q.28. Find the derivative of the following with respect to x by using method of first principle
sin(3x).

x.tanx

Q.29. Evalute lim
x=—0 1=cosx

Q.30.Find the equation of Altiudes AD on side BC . and BE on side AC of the triangle
whose vertices are A(2.5) . B(o-1). C(-4.-3).

Q.31 Dilfercutiate y with respect to x,y = e* tanx + cos xlog x —vVx 5%
(2.32.Check 1 the function has an inverse function, If yes, find the inverse function of
f(x)=9x*+8

Q.33 For what values of a and b is the function

f(x)=ax+2h+ 18 forx <0
=x2+3a—b for0<x <2
=8x -2 for x> 2 continuous for every x.

Q.34. Findnand rif"P, =720 and "Co. = 120

3040k o oh ook ok ook ook o R ok ok ook of ok ok ek
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